This question paper contains ...... printed pages Roll No. ............

Unique Paper Code 22411301

Name of the Paper Human Resource Management
Name of the Course : B. Com (Hons.)

Mode Semester- 111-OBE pattern

Duration ) 3 hours Maximum Marks 75 marks

Instructions for candidates

Note: Answer may be written either in English or in Hindi, but the same medium should be

used throughout the paper.

Attempt Any Four questions

All questions carry equal marks

“Human resource planning is more common in large organizations than in small one.”
Do you agree? Justify. How is it carried out in organizations?

“The basic idea behind simulation techniques of executive development is to
construct a situation which closely represents the actual one” Elaborate this statement
with suitable techniques.

Why is performance appraisal necessary in modern organizations? Discuss any two
modern appraisal methods.

a) “Modern organizations use supplementary compensation over and above base
compensation to retain the employees on a long-term basis”. Explain this statement
with supplementary compensation methods.

b) “HR audit is a tool for control of the personnel programs and practices though it is
not legal obligation as in the case of financial accounts and it can be conducted in
every aspect of management of people in the organization”. Discuss this
statement.

Write short note on: a) Green-HRM; b) Employee empowerment; and c) Employee
welfare and social security.

Sakthi Finance Ltd. is a reputed finance company having 10 branches in different
parts of the country. Its staff includes 290 operative employees and 70 executives.
The company has a performance rating plan under which the staff members are rated
at the end of each financial year by a committee of two executives by means of
graphic scale. The qualities considered are: Responsibilities, Initiative,



Dependability, Leadership Potential, Cooperative attitude and Community
Service. After the performance is evaluated, the ratings are discussed with the
concerned employees by their immediate boss and are used to counsel them and
arrange further training for them. The ratings are also used for granting or
withholding of increments of staff with poor performance and granting of additional
increments to and promoting of meritorious staff.

Recently, two employees working at the Head Office have been denied annual
increments due to comparatively low ratings. They have made a representation to the
Chief Executive of the company expressing their dissatisfaction with the appraisal
system and insisting that community service is not a part of their job and it should not
influence their ratings. The employees seem to organize a union and demand that
annual increments should be granted automatically. The Chief Executive feels that
performance appraised is a dangerous source of friction and so it should be
discontinued altogether.

Answer the following questions on the basis of the above case study.

a) If you were the HR manager, how would you defuse the problem?

b) How far do you agree with the Chief Executive’s view that performance appraisal
should be discontinued?

c) On what lines would you recommend modifications in the performance appraisal
system of the company?

-END-
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